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M 0.25 0.30 0.35
tinit 0.84 0.90 0.97
target 0.67 0.72 0.78
0.30 2007
2007 ABC
ABCrinit 630 0.9 30% 0.90 28
ABCrarget 534 0.8 0.9 30% 0.72 24
ABC
2004 2,855 1,464 1.98 51
2005 2,355 1,210 1.71 51
2006 2,242 - - -
current 0 - 52 10
18—1 target
2011
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ABCIimit
0.30 60 80
18 2
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ABCiimic  ABCuarget
2005 F30%(0.75) 5,498 1,812 1,546 —
2005 F30%(0.82) 2,646 735 625 —
2005 2006 0.9F30%(0.90) 2,249 616 510 1,210
2006 F30%(0.82) 2,430 626 529 —
2006 0.9F30%(0.90) 2,242 610 513 —
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Fcurrent Fsus Flimit Ftarget

ABClimit ABCtarget
10 0.52

2005 2006 2007 2008 2009 2010 2011
Fcurrent 1,210 935 915 816 774 706 660
Fcurrent 1,210 939 950 893 881 847 829
Fsus 1,210 939 900 904 902 902 903
Flimit 1,210 939 630 779 951 1,176 1,418
Ftarget 1,210 939 534 710 918 1,217 1,550

2005 2006 2007 2008 2009 2010 2011
Fcurrent 2,355 2,242 2,120 1,933 1,808 1,664 1,548
Fcurrent 2,355 2,296 2,259 2,163 2,114 2,046 1,997
Fsus 2,355 2,296 2,259 2,259 2,259 2,259 2,259
Flimit 2,355 2,296 2,259 2,785 3411 4,159 5,018
Ftarget 2,355 2,296 2,259 2,974 3,873 5,018 6,409

2005 2006 2007 2008 2009 2010 2011
Fcurrent 0.51 0.42 043 0.42 043 0.42 043
Fcurrent 0.51 041 0.42 041 0.42 041 0.42
Fsus 0.51 041 040 0.40 040 0.40 040
Flimit 0.51 041 0.28 0.28 0.28 0.28 0.28
Ftarget 0.51 041 0.24 0.24 0.24 0.24 0.24
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